A & 0l & AHS & Al A

201285 =0llah LB Aots=E0 ~ &fot=5 1t
SN AsEE D
B ASlRCAlL BE U 2R
Er9: At EIIRHAIE BIHEIAIY (cre )
SA - FB L OI(EN) - MRAY - B2 0fl &k o o RS2
afot==5 1t 24,170,626 29,605,144 N5,434,518
2 10,845,000
= 680,000
< 466,000
Al 12,179,626
HotZAIE &5 2 2 21,542,041 27,177,039 A5,634,998
=2 10,845,000
& 680,000
& 466,000
Al 9,551,041
&ot=ED|BHAIE SUHEIALS 907,199 867,703 39,49%
DISASTAENEY L DAl 907,199 867,703 39,49
201 LEt2 | 37,100 37,100 0
01 AtR2teld] 3,850 3,850 0
[ 2l 3,850
O OtSa=+=T HEAYE S23S4tl 7,000& = 59  110¢ 3,850
02 E&=23l 33,250 33,250 0
03323 2 WA 7,750
O &d=2)|site UsiHA 2 B2 750,000& * 3CH 2,250
O &ot=C83dl 8 5,500,000& * 13l 5,500
O A€ & BI= X 25,500
O Osd+E AMEsX S| 150,000& * 105 33l 4,500
O &d=JIsiteg =% ¥ RA22/d] 7,000,000& * 3CH 21,000
202 044l 2,700 2,700 0
01 SLHA LI 2,700 2,700 0
O Otsa=E Ald=E &4 20,000& = 5% » 27 2,700




SN AEHEED
B MSATAS BHE U SZOHM
EH2l: ot IIBAIE BUHSALY (&&=
CHBESI(EN) - HRAY - B2 0fl &k o o RS2
206 M=zl 12,800 12,800 0
01 =4 12,800 12,800 0
3= 2+ XHTH 320,000& = 105 * 43/ 12,800
401 A& HIZL 2 0HYI 854,599 815,103 39,496
01 Al&H] 850,000 810,000 40,000
O Otsd=k 218 Ex3At 20,000,000 * 10JH2 200,000
[ 0S4+ =328 nHSAt 4,000,000 » 25002 100,000
O JISXY =2 (AB2E) LS A 50,000,000& = 4702 200,000
O JISAY S5 LA 40,000,000& * 4742 160,000
[0 == Hi==Xl HEISAt 20,000,000& * 4704 80,000
O A=l & SEfel 2+3At 5,000,000& * 8IHA 40,000
O] =2t AIEIHS 35,000,000& * 2702 70,000
03 AIEZ 20l 4,599 5,103 A504
O 0S4 A 730,000,000& * 0.63/100 4,599
DISASTAIL e & 2222 1,376,842 906, 136 470,706
& 680,000
& 174,000
Al 522,842
OISR ASHEHA 115,842 117,565 A1,723
201 2| 100,346 83,565 16,781
01 AtR2teldl 100, 346 83,565 16,781
[ Let==Z| 96,096
O 2ol (24 8) 3,000& * 1,50004 4,500
O OiS4E #2HA =2 91,59%
Kata=(11HE S, 22) 80,0003 » 211004 16,880




M Aot
B MOATAS BHE Y SEHM
ol DISAATAIE Y 2 2F2 (ol @el)
SA - FB L OI(EN) - MRAY - B2 0fl &k o o RS2
Nok==(130E s, E=) 42,0003 * 236004 = 33 29,736
H=2=(50ES) 50,0003 * 25002 * 23] 2,500
Her=(578%) 180,000& * 236742 42,480
(] II=Hl 750
O Dtk 88 225 150,000& * 5% 750
[ =&l 3,500
O Dtk JIsE E2=4H] 7,000& » 5& = 100 3,500
202 44| 6,400 6,400 0
01 =LHOYI 6,400 6,400 0
O Otsa=S AMEEZ 20,000& * 5% » 40 4,000
O &= =22 A 22 80,000& = 1H » 30 2,400
206 TH = 4| 9,096 27,600 218,504
01 M=z 4l 9,096 27,600 218,504
O DiSdsE AS2UE Y (HA) 9,000& » 1& * 43| * 23604 8,49%
O 0i24dsE ASAE 2 (2H) 4,000& * 150kg 600
A28 =EAIE N 971,000 428,571 542,429
& 680,000
& 87,000
Al 204,000
401 AIEHIZL 2 OHY| 971,000 428,571 542,429
& 680,000
= 87,000
Al 204,000
01 Al&HI 964,882 425,489 539,393
O Z2EEX MY 964,882
O B4t RA22|(ARY) DISAdsE HESA 146,000,000& * 14l 146,000




S ABEE Dt
B MOATAS BHE Y SEHM
ol DISAATAIS DY 2 +E 2
o - - _ bSIE
SN - FB-SR(E) - HRAY - BES 0l o e
& 102,200
= 13,140
Al 30,660
O RES A 12I(HH) DHSA4+E HSBM 140,000,000 * 14! 140,000
z 98,000
& 12,600
Al 29,400
O e dH std12|(Jstd) DiSasS HEIA 85,000,000& * 14l 85,000
= 59,500
= 7,650
Al 17,850
O 7489 ZE12(J18) DiSsas=E HESA 175,000,000& * 14 175,000
z 22,500
< 15,750
Al 36,750
O 280 TE12l(£) D24+ HSIBM 85,000,002 * 14! 85,000
2 59,500
= 7,650
Al 17,850
O S4HH EfSHel(Jt0RD]) DiSa&aS NS A 85,000,000 * 14l 85,000
& 59,500
= 7,650
Al 17,850
O 28 SA2I(ARA) D244+ SXIBM 175,000,000 * 14! 175,000
2 122,500
& 15,750
Al 36,750
O XA HBi32I(=S) DiSasS HEIA 73,882,000& * 14l 73,882
& 56,300
= 6,810
Al 10,772




SAN: afok=Z1
M NSHETAlL BHE U 2EIYA
ol DISAATAIE Y 2 2F2 (=E L
S - B - S9() - HIRAY - BE2 of &re o HIDS
03 AIEZ20H| 6,118 3,082 3,036
O ZE2XAY 6.118
O 3ue Rd2el(2Rd) liSdsE HE 20 7 971,000,000& = 0.63/100 6,118
DISASSAEINS L FLALLT 290,000 360,000 70,000
< 87,000
Al 203,000
401 A2 HIZ S O8I 290,000 360,000 A70,000
= 87,000
Al 203,000
01 Al€H| 287,912 357,408 AB9,496
O SHIE2EAE 287,912
O X0t doRe|(ES) OtEd+=T HE3A 150,000,000& = 14 150,000
= 45,000
Al 105,000
O =40 UA2|(ZHH0]) OIS4sT AX3A 137,912,000& * 14 137,912
& 42,000
Al 95,912
03 AIEZ20H| 2,088 2,592 A504
O SHIE AL 2,088
O X0t dlore|(E5s) OtsdsE HE 20 1 290,000,000& = 0.72/100 2,088
SHEE THOISAIE MXIAY 2,220,000 14,534,000 A 12,314,000
St AlE RA2c 2,220,000 0 2,220,000
402 212t AH=01 A 2,220,000 0 2,220,000
02 QIZHCHRH AL HI 2,220,000 0 2,220,000
O ot==ciXl MelAld BItAE2 S| 125,000,000& » 123 1,500,000
O SX2IAE 22LAE 2] 60,000,000& * 123 720,000




SN AGHEE D
MM ABATAL BB L SEHM
©9l: S8 SHEMEIAlL ALY (el &2
= = = PSHE]
SN BB SR(B) - MRAY - BES 0l arey i RS2
SH ot=HMelAld HEAIS 1,858,000 2,770,000 A912,000
= 985,000
& 232,000
Al 641,000
OtZ St=Held XA 1,858,000 2,570,000 A712,000
= 985,000
& 232,000
Al 641,000
401 AIEHIZL 2 OHY| 1,858,000 2,570,000 712,000
= 985,000
= 232,000
Al 641,000
01 AI&H] 1,751,671 2,265,000 A513,329
O 3 NEXAE 1,751,671
O OtESteXelE EXIALS 1,751,671,000& * 14! 1,751,671
= 932,000
& 220,250
Al 599,421
02 2feldl 100,000 300,000 A200,000
O 38X AE 100,000
O OtZEot=Xeld XA 100,000,000& = 1Al 100,000
= 53,000
& 11,750
Al 35,250
03 Al 2 0HHI 6,329 5,000 1,329
(] OtESt=HMel®d AXIALY 1,758,000,000& * 0.36/100 6,329
OtSot+=E SA2el 895,000 843,200 51,800
OtSot=E SX2el 895,000 843,200 51,800




A RIS el St
HH: NGHACAIE S5 L SEHM
Eel: OtSot=E |Al2el (&2 &)
= = = PSHE]
SN BB SR(B) - MRAY - BES 0l arey i RS2
201 2| 11,000 0 11,000
01 AFR2teld| 11,000 0 11,000
[ et==Z4| 11,000
O XclitScteHMeld JIsdH =8 11,000,000& = 14 11,000
402 QIZEXHE0I A 884,000 843,200 40,800
02 SI2+CHH AR I 884,000 843,200 40,800
0 272 0tS6t=E |A2el B2t & 2,100,000 * 34002 « 123 856,800
[l OtSol== A2 EH| 2s2+=0Uh| 800,000& * 34712 27,200
otz=2t1 HHIALY 14,285,000 7,256,000 7,029,000
= 9,860,000
S 60,000
Al 4,365,000
Ot 21 & | 5,767,000 3,396,000 2,371,000
= 3,897,000
< 60,000
Al 1,810,000
401 AIEHIZL 2 OH Y| 5,767,000 3,396,000 2,371,000
= 3,897,000
& 60,000
Al 1,810,000
01 Al&H] 5,530,585 3,183,561 2,347,024
O FNEXAE 5,330,585
O UgotexelzZ+ ot=2HEHIAIY 2,189,090,000& * 14 2,189,090
= 1,538,000
Al 651,090
O OtZEsteXel 7S ot=2t HEHIALY 3,141,495,000& * 14 3,141,495
= 2,205,000




A
X ZH -
(=

=l

SA - HB - ER(B) - MRAY - BES 0f & o HI DS

Al 936,495
O SHIE AL 200,000
O XZXIF(0HE) Bi=&8] A 100,000,000& = 14 100,000
= 30,000
Al 70,000
O AN (AMEH) ti==&Hl FHIA 100,000,000& = 14 100,000
= 30,000
Al 70,000

02 &2l 220,000 200,000 20,000
O =208 AMd 60,000
O Ueot=Mel2+ ot=2HEHIAIS 60,000,000& * 14 60,000
= 42,000
Al 18,000
[ 2 D2 A 160,000
O Ot:EotsXel7S ot HEHIAE 160,000,000& * 14 160,000
= 112,000
Al 48,000

03 Al 20| 16,415 12,439 3,976
[ =02 A 16,415
O UeotsHMel2+7 ot=2HEHIAISY 2,197,000,000& = 0.36/100 7,910
O OtZEXMel+< ot=2HEH| 3,150,000,000& = 0.27/100 8,505

BILAIY 2= 8,518,000 3,860,000 4,658,000
= 5,963,000
Al 2,555,000

308 AXIEHSOIA 8,518,000 3,860,000 4,658,000
= 5,963,000
Al 2,555,000

08 JIEtRE= 8,518,000 3,860,000 4,658,000




SN AIE
M AGHSETAIS S5 U +EIYA
Chel: St EHIALY (&t &3
= = = d =
SN B SR(EH) - MRAY - BES 0l by NG RS2
O 38X AE 8,518,000
O oSt=2tAFHI(BTL)AIY tH= 8,518,000,000& * 14l 8,518,000
= 5,963,000
Al 2,555,000
#H2A I (dot==1t) 24,180 23,700 480
Qs3] 19,680 19,200 480
ol 2| (aot=E 1) 19,680 19,200 480
101 el24d| 19,680 19,200 480
01 8= 19,680 19,200 480
O =2fsg 19,680
O Azt 2R+ 8,200& = 5 x 40AI2t = 123 19,680
JI2&Hl 4,500 4,500 0
Jl2Hl(&6t+=E 1) 4,500 4,500 0
202 44| 4,500 4,500 0
01 SLHA Y] 4,500 4,500 0
[ &6tk HF S| 20,0003 * 5% = 459 4,500
S(&6t=<0) 2,604,405 2,404,405 200,000
LHEHHX = 2,604,405 2,404,405 200,000
WS HeHRI S (&ot=521t) 2,604,405 2,404,405 200,000
300 HES 604,405 604,405 0
01 SIIHEEIIHBNEES 604,405 604,405 0
[ ot==E3JIESE3H JLME= 600,000,000& * 14 600,000
[0 ot==Xel& OIXIE2&(01Y) 4,405,000& » 14! 4,405




S A
M YLBS (M)
S RTE ST E

= = = PSIE!
SN - FE . CR(SA) - HRAY - BES Ol & o8 i HlDE2
404 SIS =2NHES 2,000,000 1,800,000 200,000
01 SIILSEIAHNE2HTES 2,000,000 1,800,000 200,000
[ &=EBI|HESNH AH=2HES 2,000,000,000& * 14 2,000,000




